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circle only with Black or Blue ball point pen.
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There are 150 objective type questions in this Question
Booklet. 1 mark is allotted for each correct answer and
1/4 mark will be deducted for each wrong Answer.

Do not write anything anywhere in the Question Booklet and
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.

After completion of the examination, only OMR Answer Sheet
and cover page of question booklet is to be handed over to
the invigilator. Carbon copy of the Answer-Sheet and
Question Booklet may be taken away by the examinee.

This Question Booklet consists of Parts namely :
(1) Accountancy 35 Marks
(2) Business Studies 35 Marks
(3) Economics 30 Marks
(4) Education Psychology, Education 30 Marks
Evaluation and Assessment, Pedagogy,
Teaching Attitude
(5) General Hindi 05 Marks
(6) General English 05 Marks
(7) General Knowledge of Computer 05 Marks
(8) General Knowledge 05 Marks

All questions are compulsory.
In case of any ambiguity.in Hindi version the English
version shall be considered authentic.
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PART - 01
Accountancy
Purchase of building for cash :
(A) Decreases total liabilities
(B)  Total assets remains unchanged
(C) Increases total liabilities

(D) Decreases total assets

A Non-Trading Institution prepares
before the balance sheet :

(A) Trial Balance
(B) Profit and Loss Account
(C)  Receipt and Payment Account

(D) Income and Expenditure Account

Total capital of all the partners in a firm
is ¥ 3,00,000 and its average annual
profits are ¥ 35,000. The average rate of
profits from this business is 8%. The value
of goodwill is taken at three times of the
super profits. The value of goodwill of
this firm will be :

(A) T 24,000
(B) ¥ 35,000
(C) ¥ 11,000
(D) % 33,000

HET - 01

[GECIMIE=]

I 1 HE H H W ¢

(A) F T 7= &

(B) o arafEr srafekia wa
(©) T T s €

(D) %o grafaal st §

T R =it wen fag s ¥ qd fan
EXGIE

(A) o9

(B) w9 = @

(C) e ws e @
(D) M3 =99 @

T FH I FA TSh T 3,00,000 § ToT TTHT
ira aiftfer @1 ¥ 35,000 | EE § oy
i WH T 8% STAI 1 1t 81 el
1 HET AT o T T F I AT S
€1 WH FT enfa i ged g

(A) T 24,000
(B) % 35,000
(©) % 11,000
(D) T 33,000
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‘A’ and ‘B’ are partners sharing profits in

1
the ratio of 2 : 3. They admit ‘C’ with B

share in profit. The new profit sharing

ratio of the partners are :
(A) 4:6:5

(B) 8:12:5

(€C) 10:15:5

(D) 2:3:1

Accounting standards :

(A) Improve the reliability of financial
statements

(B) Harmonise accounting policies

(C) Eliminate the non-comparability of
financial statements

(D) All of the above

Income and expenditure account
shows :

(A) Cash and bank balance
(B) Surplus or deficiency
(C) Assets and liabilities

(D) Capital fund

‘A'TE B ETEER ¥ W23 % ST H @Y
Fied B1 S (C! H AT % AT T

TR 99| AR 1741 oY fa9reH
@ﬂﬁl”ﬂq d B B

(A) 4:6:5
(B) 8:12:5
(€) 10:15:5

(D) 2:3:1

TG AN ¢

(A) o fererol it forvareaa sl Gomd
g

(B) @i Hfrdf # werwwa @ §

() faxia faaxon =1 R-gertam w1
oY e B

(D) Y0 |

STI-2 W S ®

(A) T H T T dF § I
(B) sfes a1 g

(C) Wl v g

(D) it =
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10.

The discount column in Triple column

... cash book records :

(A) Trade discount
(B) Cash_discount
(C) Seasonal discount

(D) All of them

When a partner becomes insolvent loss on
realisation is distributed among partners
in following ratio :

(A) Equal

(B) Profit-sharing
(C) Capital

(D)  Goodwill

Journal proper records :

(A) All transactions -

(B) Only credit transactions
(C) Only cash transactions

(D) All transactions not recorded in any
subsidiary books

Meaning of Net Assets is :

(A) Total Assets —Internal Liabilities
(B) Total Assets— Capital + Liabilities
(C) Total Assets—Owner’s Equity
(D) Total Assets — Creditors Equity

7.

10.

A T el Te I8 H w2 S e
GﬂFIT%:

(A) =ATIRE P2
(B) < w2
(C) et g2
(D) 3 |t

STl 1 WIRRR feanferan g € o sxgeft #
mﬁﬁﬂﬁaﬁﬁwwﬁwﬁmmﬁ
EEEINES

(A) TR
(B) eNMY-9A
(©) it
(D) Enfa

H&y sHe H s o wmar &
(A) wft STRR

(B) TS TUR IR

(C) oe TS STER

(D) fowdlt +ft werw T&w § 7 fog W
AR HTER

Y% 9vufd &1 o #

(A) T TRl - emafis i
(B) T weafaal—doft + Sz
(C) T Wil — wnfial =+t goar
(D) Fo1 wrafal — ARl Y wwar
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11. Cash discount allowed on : 11, ¥ CTARICA RS I
(A) On cash sales (A) THE TasRa ™
(B) On total sales B (B)  Fol fawg W
(C) On credit and cash sales (C) ¥R & oy fasd T
(D) On above all (D) 3o |/ 9T
12. Interest is debited to assets account in : 12. = %1 geafa @ o fowfoa (3fae) T
ST
(A)  Written down value method (A) SHHIT B IS
(B) Annuity method (B) aftfe fafa
(C) Depreciation fund method (C)y 79w fafad
(D) None of these (D) 3THH G TEl
13. Receipts and payments account shows : 13. Wit YT S e R
(A) Income and Expenditure (A) o™ TE I
(B) Cash and Bank Balance (B) 1% TH % I
(C) Assets and Liabilities (C) wwfear wd i
(D) Cash and Credit Balance (D) 7T TI SUR U
14. Which of the following is not application 14. frafafea § § SF-91 TeHeH WHRTR
software ? ] T e ?
(A) Tally (A) e
(B) Word processing software (B) oS UEET IR
(C) Presentation software (C)  USIFYA HHReal
(D) Compiler (D) AR
SPACE FOR ROUGH WORK / T% @1 o ol STre
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15.

16.

17.

Establishment expenses of new machine
will be debited in :

(A) Expenses Account

(B) Machine Account
(C) Profit and Loss Account

(D) None of these

A, B, Care pariners sharing profits in the

1
ratioof 4:3:2. D isadmitted for 3 share

.

in future profits. What is the sacrificing

ratio ?

(A) 8:6:3

(B) 4:3:2

© 3o
27 27" 27

Numbers of Bonus shares will be included

in the valuation of Bonus shares :
(A) In numbers of equity shares
(B) In numbers of preference shares

(C)  Innumbers of equity and preference

shares

(D) None of these

15.

16.

17.

T4 HY % wo o e (faefe)
B

(A) =@ @y

(B) weF @ |
(C) v qen &1f @ #
(D) ¥ 9 =g o =&

A, B, C 4:3: 2% ITIA | oY HT HASH
FLA ZU WERR Daﬁwﬁm%wwﬁ%

et 3 fer ware e <t 1 <eamt o v
1 8 ?

S Sl & e | e et w gen
wifer gnf

(A) wH ST Bt He o

(B) qoifaerr 37 w1 gem o

(C) wHdl & qaifaer el &) gen &

(D) =59 9 ¥ 7
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18. Which one of the following Financial 18. ﬁ"-‘-lﬁﬂf@ﬁ T ¥ $-9 forxitg foawo #1 R
statement is compared as still HRIUTE | AT i ST Fhdl 77
photography ?

(A) Income statement (A) 3 faerm

(B) Balance statement (B) feafa foemm o
(C) Cash flow statement (C) s yam faarm

(D) Fund flow statement (D) wUS Rl faEm

19. If dividend of preference share has been ~ 19. 3§ TaiferR SfE T AT S e S
declared but not paid, on liquidation bl ¥ ﬁﬁ W‘Tﬁﬂ WW%, GIRSEIER
dividend is paid as : TR IS ST T fRa ST R
(A) Arrears of dividend (A) I I SHET TR % ®IH
(B) Debt (B) U % &4 H
(C) Preferential creditor (C) TEifewRt STR/R F &9 A
(D) None of the above (D) TR H 9§ FIS T8I

20. Sale of goods to Kalpita for cash should ~ 20. wfewam &I fan mn o< fosha sfee formn
be debited to : ST
(A) Cash Account (A) s Er A
(B) Sales Account (B) fora @ #

(C) Drawings Account (C) 3T @ |
(D) Kalpita's Account (D) wfew % @ o
21. Thebalance of personal assets A/cs of any 21. fod HT@'GTR I SAfFrT i &1 ST
partner of the firm can be used : wH o AT TgE 8 W T
(A) When firm’s assets are more than (A) el H T weaf o o gt § e
firm’s liabilities ®

(B) When firm's assets are less than (B) & WH I wHf Y & SIS 9§
firm Habilities K |

(C) When firm’s assets are equal to (C) & ®H HI g wH % qaa &
firm’s liablities SR B

(D) When other partners are interested (D) & 3T WIRIGRI ohl §991 &l

SPACE FOR ROUGH WORK / % &Td & o ST
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22,

23.

24.

Which of these accounts show debit

balance ?

(A) Machinery A/c

(B): Discount Allowed A/c
(C) Wages A/c

(D) Al

"A” and ‘B’ are partners with capital of
< 26,000 and R 22,000 respectively. They

1
admit ‘C’ as partner with 1 share in the

profit of the firm. ‘C’ brings ¥ 26,000 as
his share of capital. Goodwill of the firm

are :

(A) T 26,000
(B) ¥ 22,000
(€)% 30,000

(D) T 28,000

If a Trial Balance does not agree, then

accountant opens :

(A) Drawing Account

(B) Suspense Account

(C) Capital Account’

(D) Nominal Account

22.

23.

24.

3 @l W § R A 9y g § 2

(A) wEH @
(B) &2 Wi @
(<©) qagﬂ@ﬁn

(D) =+t

‘A FRB HES: 26,000 3R T 22,000
o0 35 e e E, 3 e e L
%wé;ma'caﬁm%wﬁméﬁ
g1 C ST e Wt St % ® H T 26,000
T BH T = B

(A) T 26,000

(B) T 22,000

(C) % 30,000

(D) T 28,000

ﬁﬁ’mwﬁmﬂﬁ@m%wé@w

(A) s
(B) Hfery @
(©) it e
(D) FTHHTE I @
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25. Which voucher type is used to transfer 25. TH A% O T dF H Ul smand A F
amount from one bank to another ? foTT FoFe TohR % TSR T SUERT BT ¥?
(A) Journal (A) SHA
(B) Contra (B) = .
(C) Sales (C) H
(D) Paymerits (D) A
26. The total of sales book is posted to the : 26. TosRa SiE % FeT A0 K @A A S e
(A) Debit of debtors A/c (A) TR W % T
(B) Credit of debtors A/c (B) TR WAl ST
(C) Credit of sales A/c (C) fersma @ & ST
(D) Debit of sales A/c (D) fosra @ % AH
27. Profit and Loss should be distributed 27. WM ¥ Av-gi %1 dear e S
amongst the partners : =1fed
(A) In the ratio of capital (A) Ti?ﬁ & ST H
(B) Equally (B) SIOER-sR
(©) As per pa;lnership deed (C) R Horg & TR
(D) None of these (D) 3‘1"3 9 g T
28. Ram sold goods to Shyam worth ¥ 500  28. IH 3 19 2019 ! T I T 500 I AA
on 18t March, 2019. He completely forgot AN TG AT TR | [eifeasil T’i’ﬂ"i’l
to make any entry in his books of el T g qfe T
Account. The error will be :
(A) Of Omission (A)  A-TF HI
(B) Of Arithmetical (B) IO Earef
(C) Of Principles (C) Togr wwre
(D) Of Compensation (D) sfaEsw
SPACE FOR ROUGH WORK / TF &Td o ol S8
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29.

Which of the following errors is not
disclosed by Trial Balance ?

(A) Compensating errors

30.

B)  Errors of principles

(
(C)™ Errors of omission
(D) All of these

information

Users of accounting

- . includes :

et 31.

.32,

| (A) Employ.ees__

(B) Investors
(C) Government

(D) Al of the above

Profit or Loss on revaluation is transferred
to:

(A) Incoming partner’s capital account
(B) Outgoing partner’s capital account
(C) Old partner’s capital account

(D) Profit and Loss account

- In case of issue of debentures as collateral

security. for loan from the Bank which
account will be debited ?

(A) Bank Account
(B) Bank Loan Account
(C) Debenture Account

(D) Debenture Suspense Account

29.

30.

31.

32.

= orgfedl & § = TorwR g e W
B R? |

(A) et srgfsat

B) Hsifwrw sryfeal

e el o SydnThaiet § el g
g

(A) wHHERG

(B) fafaisrs

(C) WER

(D) ST |eft

I T g TN ST B B i
ERISIGIRE

(A) & WERR F IS @n o
(B) To WrRIRR % TSt @ A
(C) T WEIRRS % it @t &
(D) - @ |

I ¥ fow T w0 F e o w1 gerEs
whiyfd % w9 § frifrg R oM w fre @@
=i 3o faman s ?

(A) o= @

(B) &% U @
(C) R

(D) womes wfery @

- SPACE FOR ROUGH WORK / % &% & o s
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33. Discount for quiclg repayment of debt is 33, dcnrel 2BY g ‘T{ ﬁTﬂ%f qrel g HEer
normally referred to as : ER
(A) Trade discount (A) SR
(B) Prompt payment discount (B) 2 Wl Wi P
(C) Cash discount (C) TR
(D) Bulk discount (D) Rl &e
34. Outsta:nding expé;ses in the 'I'rial Balance 34, T lifiﬁ 7 SeeifEd SR Wm GITE’TI :
will be shown in :
(A) Liabilities side of Balance Sheet (A) fag & TfaE vey o
(B) Debit side of Trading Account (B) =AMR Le|Gi % foe qy
(C) Debit side of Profit and Loss (C) wnmv-wifa an % e e
Accant
(D) Debit side of Trading Account or (D) =R ﬂWWﬂ—E‘FﬁE’IﬂT%%ﬁZ
' Profit and Loss Account g7 o
35. - The crealion of it is legally necessary : 35. I ®Y W SHHT A STEvIEH % g
(A) Provision (A) SIS
(B) Capital Reserve (B) ‘i\_rﬁ"ﬁ BER|
(C) Revenue Reserve (C) RATd U9
(D) TFund (D) HY
SPACE FOR ROUGH WORK / T® wd o o :x'mg
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PART - 02 YT - 02

Business Studies AT 31T
36. Match the following : 36. fyeifra o1 e &
(a) Reserve“sank of India @) 1948  (a) Fisrd e T zfem (i) 1948
(b) Industrial Finance (i) 1935 (b) ST sieifires o fem (@) 1935
Corporation of India
(c) Small Industries (i) 1964 (o) s e wen faE AE () 11964
Development Bank of India o
(d) Unit Trust of India iv) 1990 (d) gf= T= HATE el | (iv) .111990
Code : e
@ 6 © @ @ ® @ @
(A @ @ @ ) (A @) @) @) @)
® () @ @ 0 ® @) @) @ 0
© @ () Gv) G © ) @ G ()
(D) @) @) @) 0 (D) () G(v) @) 0

37. 171ow mény maximum number of partners 37.  wEEl | Rl ﬂﬁm T fRadl

can be in a partnership ? TAT?

(A) 10 (A) 10
B) 20 ‘ (B) 20
(S 50 (C) 50
(D) 200 (D) 200

SPACE FOR ROUGH WORK / T% % & o T
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38. Read the following statements : 38.
(@) Included under the functions of RBI (a) =@ g% % =l o S S
is accepling deposit on interest by S SR wnfae 1
public.
(b) New banking trend includes lead (b) HRA SfHT F A H'qﬁf&ﬁ H F’ﬁ@'
bank scheme. EEFRINEIRNIECE
(c) Important function of a bank is (c) owl # TH q‘b’ﬁ"{”’f W HT@ ﬁTﬁ'UT "
creation of credit. FHA T o
(d) Issue of currency work is included (d) F=ddwF wﬁ o g1 Ffe 1
under the functions of RBI. et ¥
(Reserve Bank of India)
Which of the following combinations YR *F Hey o e 8 | P 1 e "I
gives true statement with regard to FHUA 1§ ?
above ?
(A) (@) (), (9),(d) (A) (@), (b), (0), (d)
(B) (@), (b), () @) @ @), (o)
(©) (b)), (@) (©) (), (0), (d)
(D) (@), (b), (d) (D) (@), (b), (d)
39. Theservices related to collection of client’s 39. wHHNH F Tﬁﬁ SRUl HUE A 9§ Haftm ﬁaﬂ
debts against Commission is called : 1 FBd ’
(A) Lease finance (A) S wRA
(B) Underwriting (B) sIfwig
(C) Factoring (©) It
(D) None of these (D). 3TH R aﬁ'&a‘ T'I%"T
SPACE FOR ROUGH WORK / % &1 & f‘w?r E
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47.

48.

49.

50.

Which of the following, is not considered ~ 47.

as a function of Reserve Bank of India ?
(A) Issue of Currency

(B) ~Bankeis Bank——

(C) Control of Credit

(D) Issue of Credit Cards

Which of the following is based on the 8.

principle of division labour ?
(A)
(B) Internal Checking
(C) Internal Audit
(D) None of these

Internal Control

As per Company Act, 2013 Tlow many 49.

maximum number of members can be in
a private Co. ?

(A) 50

(B) 200

(C) 100

(D) None of the above

Assertion (A) : 50.

The Electronic media has a strong impact
on consumer behaviour in India.
Reason (R) :

Most of the Indian consumers take their
decision with the help of electronic media.
Which one of the following is correct
combination ?

(A) Both (A) and (R).are incorrect.

(B) Both (A) and (R) are correct.

(C) (A) is correct but (R) is {alse.

(D) (R) is correct but (A) is false.

g @ FF W i fod 9% w5 @
w1 T ¢ ?

(A) TR S T
—(B)__S%d d%
(C) hfee T7aEm
(D) hfee =S I T

Fretifera H @ o favrem & fagi ) snenfia
BT ?

(A) ~wridfer Frsor

(B)  srafew Fieo

(C) siaft sidwe

(D) 8 | FIS T

St e, 2013 % STER W59 HegH!
® gewd w1 sty g feat Bt 82

(A) 50
200
100

T 9 IS

o=

—~ e~
i

AT (A) :

IR H IR SAIER W Sai-eh Arad
w1 gurE S B

@k (R) :

sTferRier TR SR 319 R serifeR
e Y HeE § H B )

frefafaa § 9 $F o T 9@ A § 7

(A)  (A) 3 (R) T e )
(@) (A) 3 (R) I w1

(C) (A) T& 8, T (R) T B
(D) (R) T %, WG (A) e B

SPACE FOR ROUGH WORK / 1% @1 & fotdl ST
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51. How many schedules are there in  51. T sifufem 2013 % ofwia et srgfaar
Company Act - 2013 ? g7
(A) 7 (A) 7
(B) 8 (B) 8
© 9 © 9
(D) 10 (D) 10
52. Which is not a function of management 52, = # & ®wF-w &M woiy % & & ofavia
of the following ? T ST § 2
(A) Planning (A) TFrERE.
(B) Staffing (B) fafwm
(©) Co-operating (C) weam
(D) Controlling (D) T
53. X and Y theory has been propounded 53. X aMY & st fagia & gl o=
by : g
(A) Maslow (A) Rl
(B) Quchi (B) =
(C) Herzberg (C) wSter
(D) McGregor (D) HHIR
54. RBI has decided to release plastic notes ~ 54. Re Retd sfe § 931 g1 o T W W
in circulation to replace the currency =1 451 Trfa e =1 Freer fomen R, welwem
notes. The first such series to be circulated ff B aTelt ART ®
will be :
(A) % 5 note (A) T5H AR
(B) % 10 note (B) T 10 I
(C) Both (A) and (B) (C) (A) 2R (B) T
(D) None of these (D) ¥ 9 FIE &l
SPACE FOR ROUGH WORK / T% @ & ferd wrre
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55.

56.

57.

58.

‘E-banking is synonyms with :

(A) Tele-Banking

(B) Internet Banking
(C) Euro Banking-
(D) None of these

Which principle is related with division
of work according to efficiency of

employees ?

(A) Principle of discipline

(B) Principle of equity

(C) Principle of stability

(D) Principle of justified division of

work

The World Bank known as :
(A) IMF
(B) IDA
(C) IFC
(D) IBRD

“The main reason of most business
enterprises becoming unsuccessful is the
inefficient leadership” this statement

isof :

>

(A) Koontz and O’ Donnel
(B) Peter F. Drucker

(C) George R’ Terry

(D) Mooney and Reley

55.

56.

57.

58.

AT o SR SHATTER i o R
ferort Tore fgia W senfia § 7

A) TR i fEsi
B) ¥l = T
C) Tentaed o fagra
D) v fawsH w1 e

forva S ol ST ST R
(A) STE.THTE. (IMF)
(B) SME.ELT. (IDA)

(C) sm.uwH. (IFC)

(D) RS EL (IBRD)

erfeenTe SATEETI SUHHI & STIES o
1 Y@ HIO ST g &' AE HUA G

(A) FU T &l S
(B) T TF W
(C) S SR A
(D) T T

SPACE FOR ROUGH WORK / T% &t & f@d s
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59. How many new definition are given in 59. At stfufram 2013 & sioefa feat =3
Company Act - 2013 ? it < 7 ¥ ?
(A) 10 (A) 10
(B) 99 (B) 99
T Q) 25 N ©) 25
(D) 33 (D) 33
60. Goods and service tax was implemented 60. I IR ¥ HT 9RA H FHI AR §3 ?
in India from :
(A) 15t July 2015 (A) 1 T 2015
(B) 18t July 2017 (B) 1 S 2017
(C) 15t July 2016 () 1 e 2016
(D) 1%t July 2014 (D) 1 S[eTE 2014
61. “Worker is not a COG in the machine”  61. ‘'TH=RI W7 %I T 7€ ear’’
the principle underlying the above SR FA W AR fogia g9 wiy S[eT
statement is associated with : ' g7
(A) Scientific Management (A) ST weiY
(B) Modern Management (B) YR Ty
(C©) Human relations épproach (C) wra Gt giesmo
(D) None of these (D) T 9§ = 7o
62. The minimum qualification of themember ~ 62. S/ UMK HE & HIEA i =AH Awaa
of District Consumer Court is': BIA T
(A) Intermediate (A) sUTHITEwR
(B) Graduate (B) ¥
(C) Post Graduate (C) THHRR
(D) Law Graduate (D) < ERH
SPACE FOR ROUGH WORK / % & & o e
Set- A 20

0129/ TE-COM/RCE-M



63.

64.

65.

The intrinsic value of shares is

determined :

63.

79t o1 TR e I TRl S ©

(A)_I5 THafEl - SAER W

(A) ~on the basisof net-assets

(B) on the basis of profit

(C) on the basis of market value
(

D) decided by speculators

In India, the commercial banks are given

license of operation by :

(A) The Govt. of India

(B) The Ministry of Finance
(C) Reserve Bank of India

(D) Banking company

Name the system in which both public
and private sectors play their roles in the
economy.

(A) Capitalist economy
(B) Socialist economy
(C) Mixed economy

(D) Community economy

66. Shelf prospectus are defined in :

A) U/S 60

(

(B) U/S 31
() U/S 60 (5)
(

D) U/S 70

64.

(B) I % STEN W
(C) TSR 91 o SR T
(D) TR gra fraiia

WA H e A ) A w0 % fau
eREg EA @2

(A) 9RG TEHR

(B) o womeT

() fusrd % et ghea

(D) SfhT ol

65. wmmwmﬁﬂﬁuﬁaﬁmmﬁﬁ

&, srefozroreen H oo, yfieht Fom €

(A) i} stefeaeren
(B) TS oo
(C) Tafsa stefeaereen

(D) SR Srefereeen

66. @Wgﬁmqﬁqﬁaéz

A) W60 H

N

(

(B) €NI31H
(C) €60 (5)H
(

D) w70 H

SPACE FOR ROUGH WORK / 1% g & ot s
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67. Maximum number of Mullinational 67. fava 7 wag sfuew EIETF?;PJ sl fea
Companies exist in : SMHE?
(A) India (A) 9«
“(B) Japan o (B) SMIM
(C) America (C) e
(D) China (D) =M=
68. Which of the following is the function of 68. et # § BN w wd Faqwo mem w1 w
distribution channel ? ®7?
(A)  Communication of decisions (A) o =1 g=mo
(B) Fixing Prices (B) wiwai 1 frerfeo
(C) Promotional activities (C) Hag et nfafafear
(D) All of the above (D) S |t
69. The unfavourable balance of payment of 69. et <v1 = gidehel e Sqer o fear
a country would be corrected when : SILHES IS
(A) exports are increased (A) Tram =l sgrn s
(B) imports are increased (B) AT %I ST ST
(C) foreign investments are increased (C) Torelt frrarer =l e smam
(D) domestic trade of a country (D) <WH BT SATIR 1 AT ST
increases
70. Which services are not included in 70. SUMIERT SRV Afufrem & eTwia e
Consumer’s Protection Act ? '\EIGITQ‘ A T ¥
(A) Services of Teachers (A) STeEATIeR] =Y e
(B) Services of Advocates (B) aehrell bt FaTd
(C)  Services of Doctors (C) Tl e
(D) Services of Bankers (D) Eenicikeciy
SPACE FOR ROUGH WORK / % & & fod e
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72.

73.

PART - 03

Economics

When Rural Infrastructure Development
Fund (RIDF) is established ?

(A) 1995-96
(B) 2004-05
(C) 2009-10

(D) 2011-12

Which is not the component of Current
Account of Balance of payment ?

(A) Export and Import of Goods
(B) Export and Import of Services
(C) Exparte Transfer

(D) Foreign Investment

Who has presented “Budget 2019-20" at
Lok Sabha ?

(A) Piyush Goyal .
(B) Arun Jaitley
(C) Nitin Gadakari

(D) Narendra Modi

71.

72.

73.

AT - 03
SOMIE

Cogretor ST AT I W T
el i T ?

(A) 1995-96
(B) 2004-05
(C) 2009-10

(D) 2011-12

Wﬁ@m%mwwﬁa SN
(component) & 77

(A) et o frai e S e
(B) el % frat T ST 1 e
(C) T Tl e

(D) Foeht frew

S B 2019-20 T S FRE TR
fora ? .

(A) e T
(B) 3T il
(€ Fafe e
(D) TR W&t

SPACE FOR ROUGH WORK / T% & & o s
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74. When “Make in India” is announced by 74. SEFHST gR1 ' vRa-fator’ i seon s
Prime Minister ? T T ?
(A) 25 September 2014 (A) 25 faawr 2014
(B) 25 September 2015 (B) 25 faawr 2015
(C) 25 September 2016 (©) 25 faamr 2016
(D) 25 September 2017 (D) 25 faawsr 2017
75.  Which statementis not correct for the firm 75, quf Sfifiar # wH-w1 sifierys &4 % fog
in perfect competition ? W ¢ ?
(A) A firm is price-taker (A) ®H Tea-TTehR il
(B) Firm is price-maker (B) wH qea-fruit it ¥
(C) Firm is quantity adjuster (C) Y STIRH Tt T KT FHEISH Bt
2l
(D) Firm will get only normal profit in (D) < § wH Wl FEd 9w oy
the long run Bl
76. Match the followings : 76. =1 =1 faem i
(a) Father of Economics (i) Amartya Sen (a) R H SHF () o ¥
(b) Father of Socialism (i) Keynes (b) HMHISER 1 6 (i) H
(c) Father of New (iti) Karl Marx (c) o STefeTed % SEE  (idi) e W
Economics
(d) Economist of (iv) Adam Smith (d) HEEE S (iv) e Ry
Welfare ECo
@ () () (d @ () (© (d
(A) Gv) @ @) (i) (A) @v) O @) (i)
(B) Gv) (i) @) (@) (B) (v) (i) @) @)
Q) ) @) 6 @) (© (v) () @ @)
(D) @@) (@v) @) (@) (D) () (v) (H) @)
o SPACE FOR ROUGH WORK / T% &1 & o s e
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77.

Keynesian Theory of Employment is 77.

function of :

(A) Effective Demand

(B) Consumpmn
(C) Investment function

(D) Government Public Works

Fr=g 1 ASTIR Fagia wer ©

(A) FEE =T

(B) SUNNT e

(C) fraw wer
(D) SR TSI

78. Which is not the component of GDP at 78. A N TR WHS SE] IR H HA-
factor cost ? AT TE T2
(A) Compensation of Employees (A) el o el
(B) Operating Surplus (B) iEH CIENL]
(C) Mixed Income of Self-Employed (@) wW-USTR & fafE o
(D) Indirect Tax and Subsidies (D) otycas & T HerFd
79. What is the major objective of “New  79. *'*Ra % Tt foreft =amam +ffa 2015-2020"
Foreign Trade Policy (2015-2020) of o1 Y& Ie¥ 1] ?
India” ? ’
(A) To increase the export share of (A) faw frafa % 2.5 gfie d% 9T H
India upto 2.5% of Global Exports frrata fewa =l sier
(B) To increase the export share of () fova frafa & 3 v ok wRa & |
India upto 3% of Global Exports frafa fewm =1 seFl
(C) To increase the Export share of (C) Tfawa e % 3.5 gfaem @& 9 &
India upto 3.5% of Global Exports frrarte e o sl
(D) To increase the Export share of (D) foxa frata & 4 gfaem @& W &
India upto 4% of Global Exports frafa feemn =1 srgr
SPACE FOR ROUGH WORK / T% & & ford =7tg
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80. Inwhich Budget “Gr AMs” is announced 80. wa H g IS & sw=wia CurHie FHiY
in India ? SR’ (Gramin Agricultural Markets) 3t
HIYOT Y TT-§-72—-
(A) 2017-18 Budget (A) =9 2017-18 TSI
(B) 2018-19 Budget (B) 99 2018-19 w5
(C) 2019-20 Budget (C) =¥ 2019-20 s
(D) 2015-16 Budget (D) &Y 2015-16 TS
81. Liquidity Adjustment Facility (LAF) is 81. ‘‘tern HHEHE giaw' wrd fed S
introduced by RBI on : % BRI el He 1 T 2
(A) June 2000 (A) S 2000
(B) June 2001 (B) S[9 2001
(C)  June 2004 (C) ¥ 2004
(D)  June 2006 (D) S 2006
82.  Which type of circular {low of Income is 82, =1 gt
shown in the following equation Y=C+I+G ¥ 314 & ¥Hd Yo% & fHd
Y=C+I+G? ' YRR ki T T 2
(A) Bi-sectoral circular flow of Income (A) TeaeTa 1 =1 =3hia yae
(B) Three sectoral circular flow of (B) ﬁ—@éﬁq ST 1 Tehid YIS
Income
(C) Four sectoral circular flow of (C) =R-&1a 3™ 1 Fhid TG
Income
(D) Five sectoral circular flow of (D) -5 AT ] TR T8
Income '
83. Fisher’s Ideal Index Number is free from 83. THIR I e7cel Yashish STfvmfa (Biasness)
biasness because : Y qH T FIf
(A) Itis based on Geomelric mean (A) TUIR HIEA 9T STENIE §
(B) Based on simple Arithmetic mean (B) EYeT SR H1ed IR SMERa §
(C) Fulfils the Reversibility test (C) SRR eTor <t Ui K §
(D) Based on variable weights (D) uREdeia W’ T STHRA §
SPACE FOR ROUGH WORK / T% &T& & foi srrg
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84.

85.

86.

Which standard table of Random
Numbers is mostly used to select samples
from the universe ?

(A) _Tippet's Random Table

(B) Fisher and Yet's Table

(C) Kendal's Table

(D) C.R. Rao, Mitra, and Mathai Table

Which are the basic goals of Indian

Planning ?
(a) Poverty Alleviation

() To reduce unemployment and
achievement of full employment

(c) To reduce inequality of Income and
Assets

(d) To achieve favourable balance of
payment

(A) (a)

Which statement is not correct about
returns to a factor ?

(A) It is short run production function.
(B) Size of plant is fixed.

(C) It is also called law of variable
proportion.

(D) All factors are variable.

84.

85.

86.

Ty ¥ Q =yl & = w3 % fau e
eyt wEst i T el e A
IR foRa ST 2

() fedie % To =t Al

(B) TR Td T HT WO

(C) HUSTA hl HROR

(D) W, T, s we we <kt e

et TS 3 STHRd 3Red FH 9 ¥ 2

(a) TrefFar-se ‘
(b) SRISHTRY Y H A T POIISR i

(c) 94 TS REafa 1 SEHE hl R

(d) SRS A HIeH i 9d FTT

(A) (a)

(B) (@), (b)
©)

(D)

T W TR TR A9 HY W
T Q?

(A) TE STCUHCAT I Her B |

(B) ATUZ HT SRR feort T&d ¥ |

(C) 7" wferiTeie s 1 fraw’ s
IEIE

(D) wft ST & W e 6 € |

SPACE FOR ROUGH WORK / T% %14 & fodl sg
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87. What premium amount is fixed for Kharif 87, ‘‘Uumsst woer stA1 e & siaia feami
Crops paid by farmers under Prime & GR G wHE % o < s areft difam
Minister Fasal Bima Yojana ? Tfer ferae givesa frr mn €7
(A) 15 percentage (A) 1.5 wfaem@ -

(B) 2.0 percent (B) 2.0 gfser
(C) 3.0 percent (C) 3.0 widem
(D) 5.0 percent (D) 5.0 wfawa
88. Which is not the objective of “National 88. WRA & ”TTQ:']TI fafmio Ftfa’’ <1 seg &
Manufacturing Policy” of India ? g7
(A) To achieve 10-12 percentage (A) fafmior &= + wfa ¥ 10-12 ghasma
annual growth in manuf. sector T gfg T aa T

(B) To increase the share of manuf. (B) <N % T W TR & 25 A
sector up to 25 percent of GDP till e faftmi &= & e § = 2022
2022 T i H

(C) To provide skill training () fafmim &= & sugea =i e
appropriate in manuf. sector EHERCTGH

(D) All of the above (D) ST Tt

89. When Foreign Exchange Management 89, 4Rdd §&g o gN ‘' fooeh fafwwa T

Act was passed by Indian Parliament ? sfafm = e aiia fwan = o1 ?
(A) 1998 (A) 1998
(B) 1999 (B) 1999
() 2000 (C) 2000
(D) 2005 (D) 2005 _
SPACE FOR ROUGH WORK / T% &8 & &9 -8
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90.

91.

92.

What will be the elasticity of demand if

the upper segment of demand line is short

as compared to lower segment ?

(A)
(B)
©

(D)

How many goals are fixed under  91.

“Sustainable Development Goals 2015-
203077

(A)
(B)
(©)

(D)

Effective demand is determined by :

(A)
(B)
©
(D)

13
15
17

21

Aggregate Demand Curve
Aggregate Supply Curve
Both

Public Investment

90.

AT # T F g A Wi @ w5 Sw
TAT |, 19 e 9 BT a7

w1 7 Sl TS 5 O (e, =1)
it i ci T A A (e,>1)
| Wﬁf 9 &H (ep<1)

Wi 1 & ¥ (e, =0)

‘ot e e} 2015-2030"" 3 sl
fra e Traif forg md €2

(A) 13
(B) 15
) 17

(D) 21

92. Wl Hi 1 frefier g €, gr:

(A) FaHTE
%l I

(©

(D) SIS e

(B)

SPACE FOR ROUGH WORK / T & & fodl wimg -
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93. In which period current A/c of BOP of  93. 2000-01 % 2018-19 %t 37y # ¥ & YT
India was favourable during the period e Ed EIGEEIGINERS) arafy H SREYRN
2000-01 to 2018-19 ? oqr?

(A) 2001-02 to 2003-04 (A) 2001-02 § 2003-04
(B) 2008-09 to 2011-12 (B) 2008-09 ¥ 2011-12

(C) 2015-16 to 2018-19 (C) 2015-16 & 2018-19 |
(D) None of these period (D) T & =i ety o e

94. Which characteristic is not found in 94. mﬁﬁaﬁq%n@dug@ﬁﬁﬁﬁﬁﬁw
Karl Pearson’s Coefficient of Correlation ? "“iﬁ RIRI I
(A) Direction of correlation (A) wEEsYy = T
(B) Numerical measurement of (B) HEHdY YUNF I SRS AT

coefficient of correlation
(C) Based on standard deviation (C)  vHTafer=ier WX SR
(D) Ranking of the values of items (D) qﬁ-‘{@‘ﬁ 1 hH

95. Which farmers will be given financial aid 95. HT TEHER % g R foraml w9
of ¥ 6,000 per year by Central % 6,000 T facira wawman & sE ?
Government ?

(a) Marginal Farmers (a) HH[ Fuw
(b) Small Farmers (b) <Y FUR
(c) Medium size Farmers (c) HEIH FUH
(d) Large Farmers (d) S FIR
(A) Only (a) (A) I (a)
(B) Only (a) and (b) (B) o (a) TS (b)
(€) (a), (b) and (c) © (a), () T (c)
(D) (a), (b), (c) and (d) (D) (a), (b), () T (d)
SPACE FOR ROUGH WORK / % T % o IS
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96.

97.

98.

Histogram is used to determine :

(A) Mean

(B) Median
(C) Mode

(D) Geometric Mean

What is the measurement of small

irrigation project in India ?

(A) Less than 2500 Hectare Culturable
Area

(B) Less than 2000 Hectare Culturable

Area

(C) Less than 1500 Hectare Culturable

Area

(D) Less than 1000 IHectare Culturable

Area

From which year “Multi-Dimensional
Poverty Index” (MPI) is calculated ?

(A) 1997
(B) 2009
(C) 2010

(D) 2012

96.

97..

98.

ferma 1 v = feifia = o forg fean
TR ?

(A) HeAEH
(B) e
©) fTew
(D)  T[ONRR ATER

ya ¥ w7e] Fers TS AT T 2
(A) 2500 3HRIT @ FH FH &
(B) 2000 TR | FH F &
(C) 1500 TR & FHH F &
(D) 1000 TR § FHH F &

" srg- e freear-gEeie ' T T
a9 ¥ TR B2

(A) 1997
(B) 2009

(C) 2010

(D) 2012

SPACE FOR ROUGH WORK / T% @rd & o/l Sg
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99. Fundamental functions of money are :

(a)

(b)

Medium of exchange
Unit of Vf—ﬂTe—

Store of value
Standard of Deffered Payment
Only (a)

(a) and (b)

(b) and (c)

(c) and (d)

100. A consumer is in equilibrium when :

(A)

(D)

Price line touches the indifference

curve.

At tangent point, the slope of the
price line and slope of the
indifference curve are equal to each
other

~ MRS, = Px

Py

All the above

99.

100.

HeT % SR wE §

(a) Tafma weam
(b) A H TR
(c) I E=d

T SYHIEIT S Aasen | g § 9

(A) HIA-YE, A T B ER HA
2

(B) Y fog W wiva W@ w T

ST oI5h it T T G h e
B § '

. I.),
(©) — MRS, = ﬁ;mmmﬂ
T = x 3R y IR HI HIFG AT

(D) SR |

Set - A
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W - 04
Hiferen weitfomT, T o tishe

PART - 04

Education Psychology, Education
‘Evaluation and Assessment,

Pedagogy, Teaching Attitude

101. As per National Curriculum Framework

102.

2005 “The association of work with

education is indispensable” means :

e qeaIiehT, - [STeTuTIRe, Vel ——
Mgt

<

101. TG gl SURE 2005 % STHR W

=1 fran § e oufed ' & TRE ©

(I) The development of co-operative () forem g WEkIAr i AHIEHT H
mindset by the means of education. fa&rg

(I) Preparation for the participation in (1) enfefes SR ST SeEr T IFTERT
economic and social change. - % fau

() only (1 (4) ¥ ()

(B) only (II) (B) <heret (1)

(€©) (D) and (II) () (1) 3 (1)

(D) Neither (I) Nor (II) (D) (1) SR ATE (1)

The problem solving method is not suitable

for lower classes because :

102.

Bret swenedl 3 fae wreer-gae fafd Soge
T & il

(A) Itis a time consuming process (A) = i THA T Al TR ¥

(B) Students are less interested (B) e s s Ad €

(C) Students do not possess sufficient Q) fommett & urg gata tgq‘ M T8l Bl
previous knowledge

(D) There are no committed teachers (D) yfgerg foreres =gl €

SPACE FOR ROUGH WORK / 1% &Td o forél g
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103.

104.

To enhance the efficiency and

professionalism a teacher should :

(A) attend a skill enhancement

programme

(B) become a part of formal/non-formal

teacher’s association
(C) Dboth (A) and (B)

(D) none of the above

Creativity is a branch of :

(A) Industrial Psychology
(B) Educational Psychology
(C) General Psychology

(D) Personality Psychology

105. Good teaching is a function of :

(A) Sincerity and devotion to the

profession of teaching,.

(B) Principal’s powerful leadership in
the school.

(C) High academic qualifications of the

teachers.

(D) High level scholarship of the

teachers.

106. Characteristics of good test is :

(A) Validity

(B) Reliability

(C) Objectivity

(D) All of the above

103. Teerer =1 =nfeu far garmn IR saamfass fawm

F fag g -
(A) Fr fommre wriEmd | 9 o

(B) T A=l sl s 99
FH I T

(C)  (A) 3R (B) <
(D) SR | | FIE TRl

104. GSHASRAT Th AT © -

(A irenfirs wafamm

(B) Togn WA

(C)  gmMa TeIfaam
(D) =AfRIE AR

105. 39 ST HoH ©

(A) TR e % gfi TARER SR
=t =

(B) foemea o = %1 TR AgE #

(C) forereni &t 5= stenrefos draan

(D) Toerl =t 3= WX =1 fogan &

. 7= g &7 feRraand €

(A) dea

@) Tovagraar
(C) a&fTesan
(D) IR A+t

SPACE FOR ROUGH WORK / T% & & a8 g
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07.

108.

109.

110.

A teacher can play a significant role in 107. T&m stenfia STgge e F frfor §

~making-gender {riendly environment by :
(A) making classroom environment
gender sensitive
(B) ensuring greater. participation of
girls over boy students

(C) giving more marks to girl students

(D) none of the above

¥

In which category the students whose 108.

behaviour is abnormal or create improper

problems are Categorizéd ?

(A) Backward Children

(B) Mentally Retarded Children
(C) Problematic Children

(D) Gifted Children

What can be the main methods of 109.

assessment ?

(A) Individual assessment

(B) Collective assessment

(C) Assessment through classmate

(D) All of the above

The nature of interaction in classroom is : 110.

(A) Non-verbal
(B) Verbal
(

C) Verbal and non-verbal
(D) None of these

ﬁw@@wﬁaﬁwm%:

(A) e a1 STATEO F AT ¥ HoEARie
T T

(B) et ) spier S S e W
FI

(@) SEsT H SR i T

(D) ST H W HIE T

e SR T hiE U ST A ekl ¥
1 e B e gaed S R § IR
%ﬁmﬁﬁéﬂﬁﬁt@wm%?

(A) TS e
(B) weEdfs FeTh
(C) WTERHF TTH
(D) STl ST

ST T T wH A 8 R § 7

seq-wal § fafden w1 yehf B @
(A) F-WfEw

(B) Hifa®

(©) Wi iR si-Hifew

(D) T @ IS T
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111. “IHuman behaviour flows from three 111. “Ww?ﬁquﬁ@m@m%

main sources : desire, emotion and T, Wﬁm”ww%:_ e
__knowledge” is said by : . _ =

(A) Plato (A) < EN

(B) Socrates (B) H&Ua g1

(C) H. More (C) W= HEN

(D) A.PJ. Abdul Kalam (D) THLS. Tgel e G

112. Which set of activily indicate the correct ~ 112. ST T %I &R okl § Hehe F

approach to Inductive reasoning ? AT 915 A @

(A) Specific instance - observation - (A) ferf¥res A - STereieRT - wx:ﬁw
generalization - verification = HATT

(B) Observation - verification - specific (B) ST — e - fafre Wﬁ .
instance - generalization TR

(C) Observation - generalization (@) AR - WIWQIWUT - A9 -
verification - specific instance fafire == g

(D) Verification - observation - specific (D) wAgT - fereiien ~ fafere s -
instance - generalization AR

113. What is the merits of assignment ? 113. Sxehrd § o1 e e § 2

(A) Seriousness for work (A) FE F g T

(B) More workload on students (B) foenfei < FIIR i ﬂfﬂm

(C) Encouragement of self study (C) A Sl kErd

(D) None of the above (D) ST H ¥ g T

114. In the rural sector the responsibility of — 114. reitor s F e faen 1 SR B

primary education lies on : g

(A) Gram Panchayat (A) U 9= W

(B)  District Council (B) T gRug W

(C) Co-operative Societies (C) FewR! el W

(D) Both (A) and (B) (D) (A) R (B)I[ W
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11. According to George David Birkhoff, the
relation between the complexity (C) of the

_object,—symmeir;L/_Q_ljdf;r (0) and aesthetic (m ¥ o HeH T
measure (m) 1S
m m
() 0% ¢ () 0% ¢
@ mE o @ mx o
C C
O O
© <=4 © €=
o S-0 o S-0
O m O m
122. The role of teacher in a social 122 T IS AT ey 3 Frereh 1 el
constructivist classroom is 10 gfrae:
(A) allow student’s responses 10 drive (A) BE 6 wfaferaneti & STIeq q18 ol
his lesson. e w
(B) focus on student’s learning rather (B) 1T e e ferenfeiall
{han on teacher’s performance. ' FiferT T A Figa F
(C) facilitate the learning environment ) W arferTe AR foretor T TR
where students are encouraged to foranedl eI S ST A %
be responsible'and self governing. few gt icAcichl
(D) Allof the above (D) oy |l
123. Which among the following is/are 123, Treifed ® R CRELAEL I wed § T

point(s) of concern for designing a

curriculum ?

ﬁﬂﬂ“ﬁqfﬂf’g%/%:

O Fvaluation techniques D L EIED gfafd
(I Subject matter (11 fawa a5

(11D Learning experience

(AT FIHS
(A) (0D

(A) (1) and (D)
@) () and M) @) (1) AR (1)
(C) only (1) () o (1)

(©) (0, () and (1D

@) (0, (1) 3R (110
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124. “Item Analysis” for standardization of 124. fordl wdiaror & gamdwor % fou ‘fug
any test is done in which step ? Toretoror”! for g o fopan s # 2
(A) Planning the test (A) T HF FISET S
(B) Preparing the format of the test (B) T F IR A
(C) Trying the format of the test (C) RIETT % TRRY St Wi
(D) Evaluating the test (D) 9{teIoT ST qediR T
125. Demerit of Present evaluation system is : 125. SIHM TR oGt T 519 §
(A) Development of self confidence (A) ArHfYE T o
(B)  Encourage rote learning (B) A ol HiewmaH
(C) Giving less importance to -(C) Yiferer fawall W w9 7o
theoretical subjects
(D) Giving more importance to (D) it fowal = stferes weed <
practical subjects
126. In which subject, subject related games, 126. & ¥ fawa # fawg @ deidt G, R,
riddles, stories etc. should be used ? S e &1 yEnT T S QY ?
(A) Mathematics (A) o |
(B) Language (B) wm
(C) Science . (C) fomm
(D) Social Science (D) HrfSTes T
127. The word motivation has been originated 1é7. AT VI Y oAt uem R S v
from the Latin word. Whose meaning To Nomad g
is :
(A) Encouraging (A) ST T
(B) Pushing (B) &R
(C) Pulling (C) di=m ,
(D) Directing (D) frifem e
SPACE FOR ROUGH WORK / T% &g % o wrre
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128.

129.

130.

The method for sequenced study in
controlled condition of behavioural and

~mental process-is-i-- .

(A) Experimental method
(B) Observation method
(C) Survey method

(D) Introspection method

The correct sequence of the behaviour as

per the taxonomy of manipulative and

_ motor skills are :°

(A) manipulation- precision-imitation-
articulation - naturalization.

(B)  imitation- precision- manipulation-
naturalization - articulation.

(C) imitation-manipulation- precision-
articulation - naturalization.

(D) manipulation-imitation- precision-

articulation - naturalization.

“Mistakes are not to be covered up; they
are to be used constructively” means :
(A) Teacher should discuss the errors

made by a student with the entire

group.

(B) Teacher’s focus should always be
on mistakes committed by students.

(C) Mistakes should be used as a tool
for self analysis.

(D) The occurrence of errors should be

avoided.

128.

129.
| SN Y IR &1 EE HE T

130.

frel saaeR TS WHfas gimar w1 T
Frife sraTen § wHaS SASaE U o faiy

(A) varmeHs fafy
(B)  Siggoy fafy
(C) W fafy
(D) eHafder fafy

TR SR GUer SRl & St %

(A) TTHT - TIHAT - Tehel — SATHATR -
EEARERU

(B) el — WA ~ WL~ THFTHTT -
SR ERIES
(C) TRl — BTHT — WEThal - el -

EEARETUI
(D) BT - el - Herohar - sifvreafe - |
EEAGEaU

Tt ) T | W e 3% T

= § Wi & e A ¥

() Torers ww feremeft g =t T Afedl R
<et I e § L

(®) e w1 e wia forenedl e
R SHigd BT e |
(C) Tl STeH-ToReIvu % TR

F wy | warT e S e
(D) Ffedt =1 B e ST =fE |
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134. * ey =1 TS ST hETe T 79 R

HIT - 05
_ _gmE R -
(A) 3TEag I S F T
131, YS ¥ I ot & g =w fospey fed m . |
5 N 1) e o = e 3 (B) ST AR Hae S T B
Ay gfar
W (C) <l = SiraTs Sfues e €
(B) HHTH
(C) el (D) =R STt & T e e & fon e
D) g foparm T B 7
132. “Tieft AT TR 1 e §
(A) Fem 135. ‘foem sfe st wfafs,
(B) oo e Tife TIfg TR TEL |
q T Fd ST F, TG T H -
(C) =@ 3 iRl § i 97 STEIRR § 2
(D) Y& T oAl
(A) WIS T FShifeRT
133. TFE ©T % Toie =07 # 28 AT Bl § ?
(B) SIS ToI SAhIfeHT
(A) efifae
(B)' A (C) TF STehITR
(C) <
(D) Tew (D) Sugei # g T
SPACE FOR ROUGH WORK / T% & & foar swrg
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PART - 06 138. The Rambert Dance Company won the
country’s  largest  arts prize,
General English the Prudential Award.

above sentence into passive form ?
(A) The prudential Award has been

136. TheRed Crossgives .. 1O people won by the Rambert Dance

in needT Company.

Pick out the correct word to fill up the (B) Thelargest arts prize, the Prudential

blank. Award is won by the Rambert
Dance Company.

(A) ade (C) The country’s largest arts prize, the

) aed Prudential Award, was won by the
Rambert Dance Company.

©)  aid (D) The Count:ry’s largest prize{ the
Prudential Award, had won by the

(D) aide Rambert Dance Company. |

139. Tom wanted to buy the leather jacket

~, his empty wallet persuaded
137. My brother and I borrow one another's him not to. .
Choose an appropriate conjunction form

clothes.
the following to complete the above
Indicate the class of the underlined sentence.
pronoun in the above sentence by (A) earlier
selecting the correct alternative from the (B) afterwards
following : (C) moreover
(D) however

(A) Reflexive
140. The idiom to hang up one's hat means :
(B) Reciprocal ' (A) To make onesell comfortable in
another person’s home

(C) Indefinite (B) To have respect for someone
(C) To keep a thing secret

(D) Demonstrative (D) To talk nonsense

SPACT FOR ROUGH WORK / ¥ 18 < fora smig
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PART - 07

General Knowledge-of -Computer

141. CPU gets the address of next instruction 141.

to be processed from :

(A) Instruction register

(B) Memory address register
(C) Index register

(D) Program Counter

142. Which have the largest memory storing 142,

capacity from optical media group ?

(A) DVD-RW

(B) DVD-ROM

(C) Blu-Ray

(D) DVD-RAM -

HIT - 07

TR ehl -SRI

CPUS Y ggifua gF 9wt st
Frder =1 T fieran ®1

(A) TR U
(B) HERI T$H T
(C) 3Fussd IS

(D) IHITH I3

o stifesa wifear og & w9 98 ©RS
&I ] 2

(A) DVD-RW
(B) DVD-ROM
(C) Blu-Ray

(D) DVD-RAM
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143. In graphical system, the array of pixels in

144.

145.

the picture are stored in :

LAY

Memory

Frame bulffer

Processor

All of the above

To spell check which function key you

will press ?

(A)

(B)

(©)

(D)

F5

Fo

E7

F8

What is the fuser roller coated with ?

(A)
(B)
(©)

(D)

Teflon

Aluminium

Ink:

Rubber

143. TrRe ey H, T # fewes 1wl
w #__ﬁ'{aiﬁm‘ﬁm%l

—— (AT ——
(B) WH SFX
(C) WEH

(D) ST

144, o9 F H ERE F Wa T & o
T ?

(A) T5
(B) F6
(C) F7

(D) F8

145. R Aer s T A 9 ?
(A) T
(B) TegfafTm
Q) %

(D) ™
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PART - 08

HTT - 08

General Knowledge QA AT
146. Which of the following is not a  146. fr=fafaa fawrr =1 wen pisciciciuic)
department or institution of planning B e
commission ?
(A) Coordination department (A)  wH= faum
(B) Subject department (B) o favam
(C) Super Cabinet (C) g R Hfee
(D) National development council (D) U fawm aitug
147. Who founded the ‘Satyshodhak Samaj’ ? 147. ' Geagee A 6t T fRen T oar?
(A) Pandita Ramabai (A) Tfedr TIETE
(B) Mahadeo Govind Ranade (B) eI Tifa< TS
(C) Mahatma Gandhi (C)  wIaTeHT T
(D) Jyoti Rao Phule (D) <AiIfa T Fel
148. Temperate zone line between which 148. Yo sHiedy fFg &7 F Fed § 2
contour ?
(A) North of tropic of cancer and south (A) ek @ F IW TE FHRL @1 01
to tropic of capricorn & TaY
(B) North of tropic of capricorn and (B) HERI LI o ST T Fh @ F I
south of tropic of cancer % How
(C) Region arounded the equator (C)  Ied T % E 99 F T_q
(D) Westof the tropic of cancer and east (D) ek Y@ % qYEH T TR @
of the tropic of capricorn Pl
SPACE FOR ROUGH WORK / T% &4 & ol S8
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